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#### Biost 517: Applied Biostatistics I

#### Emerson, Fall 2012
#### Annotated Stata Log File: Homework #5
#### October 28, 2012
#### In this file I give the Stata commands I used to produce
#### the key to Homework #5. In order to properly format

#### a table useful to casual readers, I cut and pasted some

#### of the output into Excel.

#### Comments edited into the log file produced by Stata are

#### on the lines that start with the four ‘#’ signs and are

#### printed in italics.
#### The Stata commands are put in bold face.
#### Stata output is displayed in regular typeface in blue.
#### Start a log file to record commands and output
----------------------------------------------------------------------------------------------------------------

      name:  <unnamed>

       log:  z:documents\teach\courses\b517\f12\hw5Stata.log

  log type:  text

 opened on:  28 Oct 2012, 17:40:18

. quietly: infile id site age male bkrace smoker estrogen prevdis diab2 bmi systBP aai cholest crp fib ttodth
> death cvddth using http://www.emersonstatistics.com/datasets/inflamm.txt

#### Read in data: The insheet command could be used with a “.csv” file. “quietly” avoided

#### Stata printing output about missing data

. cd z:documents\teach\datasets

Z:\documents\teach\datasets

. quietly: infile id site age male bkrace smoker estrogen prevdis diab2 bmi systBP aai cholest crp fib ttodth

> death cvddth using http://www.emersonstatistics.com/datasets/inflamm.txt

(5001 observations read)

#### Drop the case that is all missing due to column headings

. drop in 1

(1 observation deleted)

#### Change time units from days to years

. replace ttodth= ttodth / 365.25

(5000 real changes made)

#### Find minimum observed censoring time

#### (Survival estimates prior to this are the same as sample proportion)

. summ ttodth if death==0

    Variable |       Obs        Mean    Std. Dev.       Min        Max

      ttodth |      3879    7.128573    1.132354   4.052019   8.054757

#### Generate indicator of death within 3 years

. g deadIn3 = death

. replace deadIn3 = 0 if ttodth > 3

(777 real changes made)

#### Find estimate of probability of death within 3 years

. tabulate deadIn3

    deadIn3 |      Freq.     Percent        Cum.

          0 |      4,656       93.12       93.12

          1 |        344        6.88      100.00

      Total |      5,000      100.00

#### Find estimate of probability of death within 3 years among those with nonmissing fibrinogen

. tabulate deadIn3 if fib!=.

    deadIn3 |      Freq.     Percent        Cum.

          0 |      4,586       93.31       93.31

          1 |        329        6.69      100.00

      Total |      4,915      100.00

#### Generate indicators of fibrinogen above 400 or 350 mg/dl

. g fib400= fib

(85 missing values generated)

. recode fib400 min/400=0 400/max=1

(fib400: 4915 changes made)

. g fib350= fib

(85 missing values generated)

. recode fib350 min/350=0 350/max=1

(fib350: 4915 changes made)

#### Cross tabulation of fib400 and deadIn3

#### (In this cross sectional study, this will have Prev, Sens, Spec, PPV, NPV)

. tabulate fib400 deadIn3, row cell col

+-------------------+

| Key               |

|     frequency     |

|  row percentage   |

| column percentage |

|  cell percentage  |

           |        deadIn3

    fib400 |         0          1 |     Total

         0 |     4,101        251 |     4,352 

           |     94.23       5.77 |    100.00 

           |     89.42      76.29 |     88.55 

           |     83.44       5.11 |     88.55 

         1 |       485         78 |       563 

           |     86.15      13.85 |    100.00 

           |     10.58      23.71 |     11.45 

           |      9.87       1.59 |     11.45 

     Total |     4,586        329 |     4,915 

           |     93.31       6.69 |    100.00 

           |    100.00     100.00 |    100.00 

           |     93.31       6.69 |    100.00 

#### Cross tabulation of fib350 and deadIn3

#### (In this cross sectional study, this will have Prev, Sens, Spec, PPV, NPV)

. tabulate fib350 deadIn3, row cell col

+-------------------+

| Key               |

|     frequency     |

|  row percentage   |

| column percentage |

|  cell percentage  |

           |        deadIn3

    fib350 |         0          1 |     Total

         0 |     3,246        179 |     3,425 

           |     94.77       5.23 |    100.00 

           |     70.78      54.41 |     69.68 

           |     66.04       3.64 |     69.68 

         1 |     1,340        150 |     1,490 

           |     89.93      10.07 |    100.00 

           |     29.22      45.59 |     30.32 

           |     27.26       3.05 |     30.32 

     Total |     4,586        329 |     4,915 

           |     93.31       6.69 |    100.00 

           |    100.00     100.00 |    100.00 

           |     93.31       6.69 |    100.00 

#### Kaplan-Meier estimates are necessary for 5 year survival
#### (Earliest censoring was about 4.05 years)

. stset ttodth death

     failure event:  death != 0 & death < .

obs. time interval:  (0, ttodth]

 exit on or before:  failure

------------------------------------------------------------------------------

     5000  total obs.

        0  exclusions

------------------------------------------------------------------------------

     5000  obs. remaining, representing

     1121  failures in single record/single failure data

 32421.37  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =  8.054757

#### Use combined data for prevalence

. sts list, at(3 4 5 6)

         failure _d:  death

   analysis time _t:  ttodth

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

       3      4657      344              0.9312    0.0036     0.9238    0.9379

       4      4506      151              0.9010    0.0042     0.8924    0.9090

       5      3839      172              0.8634    0.0049     0.8534    0.8728

       6      3686      154              0.8288    0.0055     0.8177    0.8392

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

#### Use stratified analyes for PPV, NPV

. sts list, at(3 4 5 6) by(fib400)

         failure _d:  death

   analysis time _t:  ttodth

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

fib400=0 

       3      4102      251              0.9423    0.0035     0.9350    0.9489

       4      3976      126              0.9134    0.0043     0.9046    0.9214

       5      3458      146              0.8772    0.0050     0.8669    0.8867

       6      3329      128              0.8447    0.0056     0.8333    0.8553

fib400=1 

       3       486       78              0.8615    0.0146     0.8301    0.8874

       4       463       23              0.8206    0.0162     0.7863    0.8499

       5       346       25              0.7682    0.0182     0.7301    0.8017

       6       322       24              0.7148    0.0200     0.6735    0.7518

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. log close

      name:  <unnamed>

       log:  z:documents\teach\courses\b517\f12\hw5Stata.log

  log type:  text

 closed on:  28 Oct 2012, 17:55:49

----------------------------------------------------------------------------------------------------------------
